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1. /1 and /2 an-(ﬂmo\cmg‘l\-\a(ﬁ

2. /11 and £12 are \\Y\eaf ?.mnf

3. /12 and /14 are Y_Q‘Mnglca
4. /11 and /4 a.reh“ !“*ang]es.
‘ /10 and /3 a.reu angles.

an are ’Oﬂse es.
6. /4 and /12 5 gldr! m_H(“)(
7. /4 and /13 are u,“ es‘)angp

8  Given that m/1 = 47°, find the measure of the other
angles.

9. Find the measure of ZABC.
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12. In the diagram, A ISO is isosceles. If £ = 52 and
1O = 6, find the values for the following:

§ saxay =60

c) ml{SOI = LQ IO

13. In equilateral AABC, AB = 2a:+5 and BC=2z- 13
Solve for x and then find the length of each 551«; of
the triangle. ‘/3%45 Ax-3 \8 = 9x ¥#
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14.  Find the value of y in the diagram
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15, In the diagram, m/ A = A1 4 1. m/B =51 'nn:l
m/ BCD = 10r. What is the measure of / BCA s
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In the figure 7 XYW and / WYZ form a linear par,
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i m/ XYW 135, then find m/ WYZ
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17 1If two complementary angles have degree measures of
mi X =8z — 12 and m/ Y =2z +2, what is the value

of m/X7 By 124 adzAd  ox=100 nexs(,8°
Px-10=40 % =\0

18. Given that /A and /B are supplementary, if
ml{A=(2y)° and m{B = (y— 1§)°, find m{B. ~
3\5.\9 \S =\ 33:\(\5 ‘j'bg BB = 50

19. In this triangle, D is the midpoint of AB and FE is the
midpoint of BC. If DE =2z — 1, and AC =2z +3

SOLVE for x. 3
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20. In the diagram, lines £ and m are parallel to the base
of the triangle, a = 3, b =6, ¢ =2, and d= 3% What
are the exact values of e and f7
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In the diagramm,
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23. Find the value of x if the two triangles are similar.
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24. Find the value of x if the two triangles are similar.
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In the diagram, AABC ~ AEFG, AB =12, EI" = 3

25.
What is the value of o7
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& —yetrianglesin 26-30 can be proved similar, (1) Complete the similarity statem
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31. ABAC ~ ADEC 3 — 32. x= 6 33. x
a. Find AC. S .
: [9\ 12 16 .
b. Find DE. X
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34. Given: DA L DE; DA LBA
Prove: AEDC ~ABAC

ent and (2) Tell which
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